el/E3 MM 7|E
f|PIH2 RB HME

00| £1 2 1| ABko] XEHICH B4 J10| HEE E/E3 ML 221 RB M2|X0| %88 7| I7|X|2 YI20|S FaLict 1=
HHEY ZHA| SIS 323 7|520| HBE 2 I|SS Eof, U0, LN S Cht HE| IS e 4 AL Eot of2

o =
Mz Pl HB5H0] Fof 2y 28 ARt 22 210 obHot HYS 2 EfLICt.

E3l v RBA|2|X(RB3,5,10,16)0 |Z{3}El
S/EI M 20128 3| E (MM 2F 8 AMIM2| Z3)
v Ollo|T 2 EE AT XN OHLot XM|CH HHEH B2 SH Y42
Y/EIHN HE
2012 S HEZ R0l 3 Plug&Play HE X[
EFE HTIE L 2412 22 715 XA

<<

—L——

xlel 7= st &l =X
2YY AFT200-KIT-RB 12715 v Baea =y o .
v E|H HEEOM HZ ALE Jhset X0 715
v @ =gS st Es A A Vs A0k
S820F v 2Ho |s0| TR LI 3YH & 7t
(E2lY, T, 22elE §)
4
» =) 5 S
] 1" u
3 YouTube . |

Heots 2
RB3/RB5/RB10/RB16  H|O|S/2E X% 3H AOEMEZ|/AtES2} 2t




Sl/E MM
I|E AHE

AIDIN ROBOTICS

* MMM

Number Part Product

Quantity Explain

1 FS004 AFT200-D80-C-H 1 CAN Hole Type
EiI?JE-?- RB H% 2 BS012A AFT200-D80-FLG-R-A 1 Z30x| 22 1S09409-1-50-4
3 BS013A AFT200-DBO-FLG-T-A 1 Z30x| B 15S09401-1-50-4
4 E0021A TIE MOUNTS 3 7[0]Z Efo| ORE E5 (BE 371 Z8)
5 EOD16A PIN-SUS-@6-14-H7M 2 Pin @6 14mm SUS H7(-) IS08734
6 EOO017A PIN-SUS-@4-10-H7M 6 Pin @4 10mm SUS H7(-) ISO8734
7 HS019A RB Cable SET 1 RB T8 0|2 MIE
8 E0020A CABLE TIE 3 LIYE 0|5 EtO]
9 EO015A BOLT-M5-30 6 BOLT M5-30mm (SCM)
10 E0014A BOLT-M5-10 4 BOLT M5-10mm (SCM)
11 E0023A BOLT M6-12 4 BOLT M6-12mm (SCM)
*l’%r Index Unit Value

Weight g 505(Sensor 2369, Bracket 269g)
Operating voltage VvDC 5
Max. Safe excitation voltage vDC 12
Nominal force range N 200
Norminal torque range Nm 15
Resolution(Fxyz) N 0.15
Resolution(Txyz) Nm 0.015
Dimensions mm D80 * H52.3

3 YouTube IP Rating IP56
Operating temperature 10-60C

v https://www.aidinrobotics.co.kr
Vv A7z QHYA| FobT A[RICi2327HA 12-20, 55

V' 031-360-7926
WV sales@aidinrobotics.co.kr




